Practice making equal groups.

1. How many equal groups of 2 can you make with the mittens?
‘ There are ____ groups of 2 mittens.
“ ' If you had 10 mittens, how many
‘ ' ' equal groups of 2 mittens could
you make?

%~ Take 20 cubes. Com plete the sentences.
| can make ____equal groups of 2
| can make ____equal groups of 5
| can make ____equal groups of 10

Sharing equally

Challenge 1: These sweets need to be shared equally between 4 people to
put on their cupcakes. Draw the right number of sweets on each cupcake.

16 smarties shared between 4 cupcakes
+ 8 marshmallows shared between 4 cupcakes

« 12 jelly sweets shared between 4 cupcakes
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Challenge 2:

| have 10 apples and 2 bowls. | put the same
number in each bowl. How many in each bowl|?
Draw your answer.
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| have 8 seeds and 2 pots. | put the same
number in each pot. How many in each pot?
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| have 14 balls and 2 buckets. | put the same
number in each bucket. How many in each pot?
Draw your answer.
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I have 10 apples. I share the apples equally int 5 plates. How many in each plate?
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Challenge 3: Share these tasty goodies equally between different number
of people.

e.g. Share between 3 How many does What does the
each person get? calculation look like?
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Tim has 16 bananas.

He shares them equally between two boxes.
How many bananas are in each box?
Represent and solve the problem.

Dora has 10 biscuits.

She wants to share them equally at her
party.

How many people could be at the party?



Answers

Practice making equal groups.

How many equal groups of 2 can you make with the mittens?
There are groups of 2 mittens.

“ ‘ ‘ If you had 10 mittens, how many
‘ ‘ . equal groups of 2 mittens could

you make?

There are 4 groups of 2 mittens.
If you had 10 mittens, how many equal groups of 2 mittens could you make? 5

equal groups.
2. Take 20 cubes. Complete the sentences.
| can make ____equal groups of 2
| can make ____equal groups of 5
| can make ___equal groups of 10

I can make 10 equal groups of 2.
I can make 4 equal groups of 5.

I can make 2 equal groups of 10.
Sharing equally

Challenge 1: These sweets need to be shared equally between 4 people to
put on their cupcakes. Draw the right number of sweets on each cupcake.

+ 16 smarties shared between 4 cupcakes
On each cake draw:
8 marshmallows shared between 4 cupcakes
4 smarties
12 jelly sweets shared between 4 cupcakes
2 marshmallows

3 jelly sweets.
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Challenge 2:

| have 10 apples and 2 bowls. | put the same
number in each bowl. How many in each bowl|?
Draw your answer.
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| have 8 seeds and 2 pots. | put the same
number in each pot. How many in each pot?
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| have 14 balls and 2 buckets. | put the same
number in each bucket. How many in each pot?
Draw your answer.

eeeeeeceeceeeee

S

I have 10 apples. I share the apples equally int 5 plates.
How many in each plate?
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5 apples

4 seeds

7 balls




Challenge 3: Share these tasty goodies equally between different number
of people.

e.g. Share between 3 How many does What does the
each person get? calculation look like?
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Answers:
a. 8+2=4
b. 12+4
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C. 12+ 3 =
d 10+5
e. 10+ 2 =

f. 16+4

Tim has 16 bananas. 16 = 2-8
He shares them equally between two boxes.

How many bananas are in each box?
Represent and solve the problem.



Dora has 10 biscuits.

She wants to share them equally at her
party.

How many people could be at the party?

10 = 1=10
10 = 2=5

10 = b=2



